

Some Inequalities Involving Means and Their Converses

Wan-lan Wang

Department of Computer Science, Chengdu University, Chengdu, Sichuan, 610081.

metadata, citation and similar papers at core.ac.uk

Received July 10, 1998

Using an idea of J. Sándor and V. E. S. Szabó, an inequality of Ky Fan and its generalizations are proved. We also establish some converses of these inequalities. As consequences some well-known inequalities are obtained. © 1999 Academic Press

1. INTRODUCTION AND NOTATION

As pointed out in [1], means are basic to the whole subject of inequalities and to many of the applications of inequalities to other fields. Fundamental arithmetic, geometric, and harmonic means are particularly important in numerous means. Some new interesting characterizations of these means have of late been obtained by Haruki and Rassias (see [2, 3]).

Ky Fan's arithmetic–geometric mean inequality is interesting and useful. Several kinds of the related investigations can be found in many articles [4–32]. For example, the author and his cooperators [22, 25] established the following inequalities

$$\begin{aligned} \left[\frac{E_n(x)}{E_n(1-x)} \right]^{1/n} &\leq \left[\frac{E_{n-1}(x)}{E_{n-1}(1-x)} \right]^{1/(n-1)} \leq \dots \\ &\leq \left[\frac{E_r(x)}{E_r(1-x)} \right]^{1/r} \leq \dots \\ &\leq \left[\frac{E_2(x)}{E_2(1-x)} \right]^{1/2} \leq \frac{E_1(x)}{E_1(1-x)} \end{aligned}$$

$$\left[\frac{E_1(1-x)E_r(x)}{E_1(x)E_r(1-x)} \right]^{1/(r-1)} \leq \left[\frac{E_r(x)}{E_r(1-x)} \right]^{1/r} \leq \left[\frac{E_{r-1}(x)}{E_{r-1}(1-x)} \right]^{1/(r-1)},$$

$$\frac{H(x)}{H(1-x)} \leq \frac{G(x)}{G(1-x)},$$

where $E_r(x)$, $E_r(1-x)$ are the r th elementary symmetric functions [33, p. 33] for $x = (x_1, \dots, x_n)$ and $1-x = (1-x_1, \dots, 1-x_n)$, respectively, and $G(\dots)$ and $H(\dots)$ are the geometric and harmonic means with equal weights, $0 < x_i \leq \frac{1}{2}$, ($i = 1, \dots, n$).

Sándor and Szabó [34, also see 35] proved some known inequalities by means of the following obvious fact

$$\sum \inf_{x \in E} F_i(x) \leq \inf_{x \in E} \sum F_i(x). \quad (1)$$

The method of proving inequalities is interesting, and its chief feature is clear. It seems that some new inequalities can also be established in this way.

The main results of this paper are as follows: In Section 2, we prove Ky Fan's inequality and its generalizations by (1). As some special cases, the arithmetic-geometric mean inequality and the results in [21] are deduced. In Section 3, we establish the converses of the above inequalities and discuss some refinements of Ky Fan's inequality.

We need the following notation and symbols,

$$a_i \in (0, \frac{1}{2}], \quad p_i > 0, \quad i = 1, \dots, n, \quad P := p_1 + \dots + p_n,$$

$$m := \min\{a_1, \dots, a_n\}, \quad M := \max\{a_1, \dots, a_n\}, \quad \exp\{x\} := e^x,$$

$$A := A(a) := P^{-1} \cdot \sum p_i a_i,$$

$$G := \prod a_i^{p_i/P}, \quad H := P \cdot (\sum p_i a_i^{-1})^{-1},$$

$$A' := A(1-a) := P^{-1} \cdot \sum p_i (1-a_i),$$

$$G' := G(1-a), \quad H' := H(1-a).$$

Here and in what follows Σ and Π are used to designate $\Sigma_{i=1}^n$ and $\Pi_{i=1}^n$, whenever confusion is unlikely to occur.

2. KY FAN'S INEQUALITY AND ITS GENERALIZATIONS

First we prove a known result as

THEOREM 1. *If $a_i \in (0, \frac{1}{2}]$, ($i = 1, \dots, n$), then*

$$\frac{G}{G'} \leq \frac{A}{A'}. \quad (2)$$

Equality holds iff $m = M$, i.e., iff all the a_i are equal.

Proof 1. Calculating the first derivative of the functions $f_i: (0, \frac{1}{2}] \mapsto \Re$, ($i = 1, \dots, n$) defined by

$$f_i(x) := p_i \left[\frac{a_i}{x} - \frac{1 - a_i}{1 - x} - \log \frac{1 - x}{x} \right],$$

we have

$$f'_i(x) = p_i \left[-\frac{a_i}{x^2} - \frac{1 - a_i}{(1 - x)^2} + \frac{1}{1 - x} + \frac{1}{x} \right].$$

It is easy to see that each f_i has minimum at $x_{i,0} = a_i$ and its value is $f_i(a_i) = -p_i \log(1 - a_i)/a_i$. Similarly, the function $f := \sum f_i$ has minimum at $x_0 = A$ and its value is

$$-P \log \frac{1 - A}{A} = -P \log \frac{A'}{A}.$$

Using inequality (1) we obtain

$$-\sum p_i \log \frac{1 - a_i}{a_i} \leq -P \log \frac{A'}{A},$$

which is equivalent to (2).

Proof 2. Calculating the first and the second derivative of functions

$$F_i: (0, 1) \mapsto \Re, \quad (i = 1, \dots, n)$$

defined by

$$F_i(x) := \frac{x}{a_i} - \frac{1 - x}{1 - a_i} + \log \frac{1 - x}{x},$$

we have

$$F'_i(x) = \frac{1}{a_i(1 - a_i)} - \frac{1}{x(1 - x)}, \quad F''_i(x) = \frac{1 - 2x}{x^2(1 - x)^2}.$$

It is easy to verify that F_i has minimum and maximum at $x_{i,0} = a_i$ and $x_{i,0} = 1 - a_i$, respectively, it is strictly convex in $(0, \frac{1}{2}]$, strictly concave in $[\frac{1}{2}, 1)$, and $(\frac{1}{2}, [a_i^{-1} - (1 - a_i)^{-1}]/2)$ is the unique point of inflection on the curve $y = F_i(x)$. From $\lim_{x \rightarrow 0^+} F_i(x) = +\infty$ and $\lim_{x \rightarrow 1^-} F_i(x) = -\infty$, the lines $x = 0$ and $x = 1$ are two vertical asymptotes.

It follows that for all the $p_i > 0$ ($i = 1, \dots, n$) the function

$$F(x) := \sum p_i F_i(x) = \left(\sum p_i a_i^{-1} \right) x - \left[\sum p_i (1 - a_i)^{-1} \right] (1 - x) + P \log(1 - x)/x$$

is strictly convex in $(0, \frac{1}{2}]$ and so Jensen's inequality gives

$$F(A) \leq P^{-1} \cdot \sum p_i F(a_i),$$

or, simplifying,

$$\log \frac{1 - A}{A} \leq \frac{1}{P} \log \prod \left(\frac{1 - a_i}{a_i} \right)^{p_i},$$

which is equivalent to (2), and equality holds iff $m = M$. This completes the proof.

Remark 1. In the following we use some results in Proof 2. This is a good reason for presenting Proof 2. From the above argument we can obtain a variant of (1), namely,

$$G(b)/G(1 - b) \geq A(b)/A(1 - b),$$

where $b_i \in [\frac{1}{2}, 1)$, $i = 1, \dots, n$, which is equivalent to (2). Although (2) can also be proved by the convexity of a simpler function $\log(1 - x)/x$ (see [6, 21]), yet we do not use it now.

Remark 2. Note that, for all $n \in \mathbf{N}$, and all nonnegative $a = (a_1, \dots, a_n)$ the inequality $G(a) \leq A(a)$, with equality holding iff $a_1 = \dots = a_n$, is a consequence of (2). In fact, making use of an idea of the paper [25], we can assume that $0 < a_i \leq t/2$, it follows that (2) holds for $0 < a_i/t \leq \frac{1}{2}$, namely,

$$\frac{G(a/t)}{G(1 - a/t)} \leq \frac{A(a/t)}{A(1 - a/t)},$$

where $a/t := (a_1/t, \dots, a_n/t)$, $1 - a/t := (1 - a_1/t, \dots, 1 - a_n/t)$. From this we get

$$\frac{G(a)}{G(1 - a/t)} \leq \frac{A(a)}{A(1 - a/t)}.$$

Passing to the limit as $t \rightarrow +\infty$, we obtain the inequality $G(a) \leq A(a)$.

THEOREM 2. *If $a_i \in (0, \frac{1}{2}]$, ($i = 1, \dots, n$), and $r \in \mathbf{N}$, $1 \leq r < n$, $\{n_r\}$ is the collection of all the subsets $\sigma_k := (k_1, k_2, \dots, k_r)$ of r elements chosen from the set $1, 2, \dots, n$, where $k = 1, 2, \dots, \binom{n}{r}$, $\binom{n}{r} := n(n-1)\cdots(n-r+1)/r!$, then*

$$\prod_{k=1}^{\binom{n}{r}} \left[\frac{\sum_{j=1}^r p_{k_j} a_{k_j}}{\sum_{j=1}^r p_{k_j} (1 - a_{k_j})} \right]^{(\sum_{j=1}^r p_{k_j}) / \binom{n-1}{r-1} P} \leq \frac{A}{A'}. \tag{3}$$

Proof. We first fix a subset $\sigma_k = (k_1, k_2, \dots, k_r) \in \{n_r\}$, temporarily. Choose functions $g_{k_j} : (0, \frac{1}{2}] \mapsto \mathfrak{R}$, ($j = 1, \dots, r$) defined by

$$g_{k_j}(x) := p_{k_j} \left(\frac{a_{k_j}}{x} - \frac{1 - a_{k_j}}{1 - x} - \log \frac{1 - x}{x} \right).$$

Summing up over j from 1 to r , we get

$$g_k(x) := \sum_{j=1}^r g_{k_j}(x) = \frac{\sum_{j=1}^r p_{k_j} a_{k_j}}{x} - \frac{\sum_{j=1}^r p_{k_j} - \sum_{j=1}^r p_{k_j} a_{k_j}}{1 - x} - \left(\sum_{j=1}^r p_{k_j} \right) \log \frac{1 - x}{x}.$$

It appears similar to the argument of Proof 1 of Theorem 1: g_k has minimum at $x_{k,0} = (\sum_{j=1}^r p_{k_j})^{-1} (\sum_{j=1}^r p_{k_j} a_{k_j})$ and its value is

$$g_k(x_{k,0}) = - \left(\sum_{j=1}^r p_{k_j} \right) \log \frac{\sum_{j=1}^r p_{k_j} - \sum_{j=1}^r p_{k_j} a_{k_j}}{\sum_{j=1}^r p_{k_j} a_{k_j}}.$$

For the above functions, summing up over k from 1 to $\binom{n}{r}$, we get

$$\begin{aligned} g(x) &:= \sum_{k=1}^{\binom{n}{r}} g_k(x) \\ &= \frac{\sum_{k=1}^{\binom{n}{r}} \sum_{j=1}^r p_{k_j} a_{k_j}}{x} - \frac{\sum_{k=1}^{\binom{n}{r}} \sum_{j=1}^r p_{k_j} - \sum_{k=1}^{\binom{n}{r}} \sum_{j=1}^r p_{k_j} a_{k_j}}{1 - x} \\ &\quad - \sum_{k=1}^{\binom{n}{r}} \sum_{j=1}^r p_{k_j} \log \frac{1 - x}{x}. \end{aligned}$$

Note that

$$\begin{aligned} \sum_{k=1}^{\binom{n}{r}} \sum_{j=1}^r p_{k_j} &= \sum_{k=1}^{\binom{n}{r}} (p_{k_1} + p_{k_2} + \cdots + p_{k_r}) \\ &= \binom{n-1}{r-1} p_1 + \binom{n-1}{r-1} p_2 + \cdots + \binom{n-1}{r-1} p_n \\ &= \binom{n-1}{r-1} P, \end{aligned}$$

$$\sum_{k=1}^{\binom{n}{r}} \sum_{j=1}^r p_{k_j} a_{k_j} = \sum_{k=1}^{\binom{n}{r}} (p_{k_1} a_{k_1} + p_{k_2} a_{k_2} + \cdots + p_{k_r} a_{k_r}) = \binom{n-1}{r-1} (\sum p_i a_i),$$

where $\binom{n-1}{r-1} = \binom{n-1}{0} = 1$, if $r = 1$. Therefore $g(x)$ can be rewritten simply as

$$g(x) = \binom{n-1}{r-1} P \left(\frac{A}{x} - \frac{1-A}{1-x} - \log \frac{1-x}{x} \right).$$

It is easy to calculate that the function g has minimum at $x_0 = A$ and its value is

$$g(x_0) = g(A) = - \binom{n-1}{r-1} \cdot P \log \frac{1-A}{A} = \binom{n-1}{r-1} P \log \frac{A}{A'}.$$

Using (1), we obtain $\sum_{k=1}^{\binom{n}{r}} g_k(x_{k,0}) \leq g(x_0)$, or simplifying,

$$\log[\text{the left-hand side of (3)}] \leq \log[\text{the right-hand side of (3)}],$$

which is equivalent to (3). This completes the proof of Theorem 2.

COROLLARY 1. Under the hypotheses of Theorem 2, let $p_1 = \cdots = p_n = p_0$, then

$$\prod_{k=1}^{\binom{n}{r}} \left[\frac{\sum_{j=1}^r a_{k_j}}{\sum_{j=1}^r (1 - a_{k_j})} \right]^{1/\binom{n}{r}} \leq \frac{\sum a_i}{\sum (1 - a_i)}. \quad (4)$$

COROLLARY 2. If $r = 1$, then (3) and (4) are just the inequalities of Ky Fan with weights and equal weights, respectively.

Remark 3. The inequality (4) was established by Jensen's inequality in [21]. Furthermore, using (1) we can prove $G/G' \leq$ the left-hand side of (3).

Remark 4. If $0 < a_i < +\infty$, ($i = 1, \dots, n$), then

$$\prod_{k=1}^{\binom{n}{r}} \left(\frac{\sum_{j=1}^r p_{k_j} a_{k_j}}{\sum_{j=1}^r p_{k_j}} \right)^{(\sum_{j=1}^r p_{k_j}) / \binom{n-1}{r-1} P} \leq A. \tag{5}$$

We can prove (5) by the similar method of Remark 2. In fact, replacing a_{k_j} by a_{k_j}/t in (3), and multiplying both sides by t , then passing the limit as $t \rightarrow +\infty$, we obtain (5). Note that, setting in (5), $r = 1$ we get the arithmetic-geometric mean inequality; setting $r = 1$, $p_{k_1} := b_k$, $p_{k_1} a_{k_1} := a_k$, we get the inequality (9) in [34].

3. CONVERSES OF SOME INEQUALITIES

First we establish the converses of Ky Fan's inequality:

THEOREM 3. If $a_i \in (0, \frac{1}{2}]$, ($i = 1, \dots, n$), then

$$\begin{aligned} \frac{G}{G'} &\geq \frac{x_0}{1-x_0} \exp \left[\frac{1}{1-m} \left(1 - \frac{x_0}{m} \right) \right] \\ &\geq \frac{A}{A'} \exp \left[\frac{1}{1-m} \left(1 - \frac{M}{m} \right) \right], \end{aligned} \tag{6}$$

where

$$x_0 = \frac{1}{2} - \frac{1}{2} \sqrt{1 - 4P \left[\sum \frac{p_i}{a_i(1-a_i)} \right]^{-1}}, \tag{7}$$

$x_0 \in [m, M]$, and the equalities in (6) occur if $m = M$, i.e., if all the a_i are equal.

Proof. Consider the functions $\phi_i: (0, \frac{1}{2}] \mapsto \Re$, ($i = 1, \dots, n$) defined by

$$\phi_i(x) := p_i \left(\frac{x}{a_i} - \frac{1-x}{1-a_i} + \log \frac{1-x}{x} \right).$$

From the properties of F_i in Proof 2 of Section 2, it is easy to see that ϕ_i has minimum at $x_{i,0} = a_i$ and its value is $\phi_i(a_i) = p_i \log[(1-a_i)/a_i]$.

Put $\Phi := \sum \phi_i$. Then

$$\begin{aligned} \Phi(x) &= \left(\sum \frac{p_i}{a_i} \right) x - \left(\sum \frac{p_i}{1-a_i} \right) (1-x) + P \log \frac{1-x}{x}, \\ \Phi'(x) &= P \left[\frac{1}{P} \cdot \sum \frac{p_i}{a_i(1-a_i)} - \frac{1}{x(1-x)} \right]. \end{aligned}$$

It is easy to calculate that the critical point x_0 of Φ is the expression (7), and Φ has minimum at x_0 and its value is

$$\Phi(x_0) = \left[\sum \frac{p_i}{a_i(1-a_i)} \right] x_0 - \sum \frac{p_i}{1-a_i} + P \log \frac{1-x_0}{x_0}.$$

Using (1) and $\Phi(x_0) \leq \Phi(A)$, we obtain

$$\begin{aligned} \log \prod \left(\frac{1-a_i}{a_i} \right)^{p_i} &\leq \left[\sum \frac{p_i}{a_i(1-a_i)} \right] x_0 - \sum \frac{p_i}{1-a_i} + P \log \frac{1-x_0}{x_0} \\ &\leq \left[\sum \frac{p_i}{a_i(1-a_i)} \right] A - \sum \frac{p_i}{1-a_i} + P \log \frac{1-A}{A}. \end{aligned} \quad (8)$$

We can prove that the given inequalities $0 < m \leq a_i \leq M \leq \frac{1}{2}$, ($i = 1, \dots, n$) imply $x_0 \in [m, M]$. In fact, since the function $1/t(1-t)$ is strictly decreasing in $(0, \frac{1}{2}]$, therefore, for all the a_i ,

$$4 \leq \frac{1}{M(1-M)} \leq \frac{1}{a_i(1-a_i)} \leq \frac{1}{m(1-m)}.$$

From this we have

$$4 \leq \frac{1}{M(1-M)} \leq \frac{1}{P} \cdot \sum \frac{p_i}{a_i(1-a_i)} \leq \frac{1}{m(1-m)}, \quad (9)$$

or

$$0 < 4m(1-m) \leq 4P \left[\sum \frac{p_i}{a_i(1-a_i)} \right]^{-1} \leq 4M(1-M) \leq 1,$$

or

$$0 < 2m \leq 1 - \sqrt{1 - 4P \left[\sum \frac{p_i}{a_i(1-a_i)} \right]^{-1}} \leq 2M \leq 1.$$

Combining the expression (7) we get $x_0 \in [m, M]$.

From $\frac{1}{2} \leq 1-M \leq 1-a_i \leq 1-m < 1$ we have

$$1 < \frac{1}{1-m} \leq \frac{1}{P} \cdot \sum \frac{p_i}{1-a_i} \leq \frac{1}{1-M} \leq 2. \quad (10)$$

Inequalities (8) can be written equivalently as

$$\begin{aligned} \prod \left(\frac{1 - a_i}{a_i} \right)^{p_i/P} &\leq \frac{1 - x_0}{x_0} \exp \left\{ \frac{1}{P} \left[\sum \frac{p_i}{a_i(1 - a_i)} \right] x_0 - \frac{1}{P} \sum \frac{p_i}{1 - a_i} \right\} \\ &\leq \frac{1 - A}{A} \exp \left\{ \frac{1}{P} \left[\sum \frac{p_i}{a_i(1 - a_i)} \right] A - \frac{1}{P} \sum \frac{p_i}{1 - a_i} \right\}. \end{aligned} \quad (11)$$

Replacing

$$\frac{1}{P} \cdot \sum \frac{p_i}{a_i(1 - a_i)}, \frac{1}{P} \cdot \sum \frac{p_i}{1 - a_i}, \text{ and } A \text{ in the brace of (11)}$$

by $1/m(1 - m)$, $1/(1 - m)$, and M , respectively, and combining (9) and (10), we can obtain the following inequalities

$$\begin{aligned} \frac{G'}{G} &\leq \frac{1 - x_0}{x_0} \exp \left[\frac{1}{1 - m} \left(\frac{x_0}{m} - 1 \right) \right] \\ &\leq \frac{A'}{A} \exp \left[\frac{1}{1 - m} \left(\frac{M}{m} - 1 \right) \right], \end{aligned}$$

which is equivalent to the desired inequalities.

Last of all, we study the equality condition of (6): Setting $m = M$, we get $x_0 = m = M$ from $x_0 \in [m, M]$, namely, the equalities in (6) occur. This completes the proof of Theorem 3.

Remark 5. If $a_i \in (0, \frac{1}{2}]$, ($i = 1, \dots, n$), then

$$G \geq H \geq A \cdot \exp \left[1 - \frac{A}{H} \right], \quad (12)$$

with equalities only if $m = M$. Replacing a_i by a_i/t in the inequalities (6), (12) can be proved by similar method in Remark 2. Note that letting $A/H = x$ in the second inequality of (12), we get $1/x \geq \exp(1 - x)$, which is equivalent to the well-known inequality $\log x \leq x - 1$. Conversely, as the referees point out that (12) can be easily deduced by $\log x \leq x - 1$.

Remark 6. If $a_i \in (0, \frac{1}{2}]$, ($i = 1, \dots, n$), then

$$\begin{aligned} \frac{G'}{G} &\leq \left[\frac{1}{2H} + \frac{1}{2H'} - 1 + \frac{\sqrt{(H+H')(H+H'-4HH')}}{2HH'} \right] \\ &\quad \times \exp \left[\frac{1}{2H} - \frac{1}{2H'} - \frac{\sqrt{(H+H')(H+H'-4HH')}}{2HH'} \right] \\ &\leq \frac{A'}{A} \exp \left(\frac{A}{H} - \frac{A'}{H'} \right). \end{aligned} \quad (13)$$

Here we use the relations

$$P^{-1} \cdot \sum p_i / (1 - a_i) = 1/H', \quad P^{-1} \cdot \sum p_i / a_i (1 - a_i) = 1/H + 1/H',$$

the expression (7), and the inequalities (11). It is not difficult to show (13) carefully, so we omit it. Inequalities (13) give a new connection between A , A' , G , G' , H , and H' .

THEOREM 4. If $a_i \in (0, \frac{1}{2}]$, ($i = 1, \dots, n$), we have the following finite and infinite refinements of Ky Fan's inequality:

$$\begin{aligned} \frac{\Sigma(1 - a_i)}{\Sigma a_i} &\leq \dots \leq \prod_{1 \leq i_1 < \dots < j_{k+1}} \left[\frac{(1 - a_{i_1}) + \dots + (1 - a_{i_{k+1}})}{a_{i_1} + \dots + a_{i_{k+1}}} \right]^{1/\binom{n}{k+1}} \\ &\leq \prod_{1 \leq i_1 < \dots < i_k \leq n} \left[\frac{(1 - a_{i_1}) + \dots + (1 - a_{i_k})}{a_{i_1} + \dots + a_{i_k}} \right]^{1/\binom{n}{k}} \\ &\leq \dots \leq \prod \left(\frac{1 - a_i}{a_i} \right)^{1/n}; \end{aligned} \quad (14)$$

$$\begin{aligned} \frac{\Sigma(1 - a_i)}{\Sigma a_i} &\leq \dots \leq \prod_{1 \leq i_1 < \dots < i_{k+1} \leq n} \left[\frac{(1 - a_{i_1}) + \dots + (1 - a_{i_{k+1}})}{a_{i_1} + \dots + a_{i_{k+1}}} \right]^{1/\binom{n+k}{k+1}} \\ &\leq \prod_{1 \leq i_1 < \dots < i_k \leq n} \left[\frac{(1 - a_{i_1}) + \dots + (1 - a_{i_k})}{a_{i_1} + \dots + a_{i_k}} \right]^{1/\binom{n+k-1}{k}} \\ &\leq \dots \leq \prod \left(\frac{1 - a_i}{a_i} \right)^{1/n}. \end{aligned} \quad (15)$$

In 1980, Wang and Wu [21, Theorem 3] proved the above inequalities (14) by means of Ky Fan's inequality (2) with equal weights and combinatorial facts.

We give another new proof of (14) which is based on the following refinements of Jensen's inequality. We first state some results in [36, 37] as follows: Let I be a convex subset of an arbitrary real linear space, and let $f: I \rightarrow \Re$ be a mid-convex function. Then

$$\begin{aligned} f\left(\frac{1}{n} \sum a_i\right) &= f_{n,n} \leq \dots \leq f_{k+1,n} \leq f_{k,n} \leq \dots \leq f_{1,n} \\ &= \frac{1}{n} \sum f(a_i), \quad (k = 1, \dots, n), \end{aligned} \quad (16)$$

$$\begin{aligned} f\left(\frac{1}{n} \sum a_i\right) &\leq \dots \leq \tilde{f}_{k+1,n} \leq \tilde{f}_{k,n} \leq \dots \leq \tilde{f}_{1,n} \\ &= \frac{1}{n} \sum f(a_i), \quad (k = 1, 2, \dots), \end{aligned} \quad (17)$$

where $a_i \in I$, $i = 1, \dots, n$, and

$$\begin{aligned} f_{k,n} &= \frac{1}{\binom{n}{k}} \sum_{1 \leq i_1 < \dots < i_k \leq n} f\left(\frac{1}{k}(a_{i_1} + \dots + a_{i_k})\right), \\ \tilde{f}_{k,n} &= \frac{1}{\binom{n+k-1}{k}} \sum_{1 \leq i_1 < \dots < i_k \leq n} f\left(\frac{1}{k}(a_{i_1} + \dots + a_{i_k})\right). \end{aligned}$$

Proof of (14) and (15): Setting in (16) and (17), $a_i \in (0, \frac{1}{2}]$, ($i = 1, \dots, n$), and $f: (0, \frac{1}{2}] \rightarrow \Re$ defined by $f(x) := \log(1-x)/x$, a simple calculation yields inequalities (14) and (15).

It may be seen from the above that the inequalities (16) and (17) established by Pečarić, Volenec, and Srvtan are not only interesting but also useful.

ACKNOWLEDGMENTS

The author is very grateful to the referees for their many useful comments and suggestions and to his mother for her cares and encouragement.

REFERENCES

1. P. S. Bullen, D. S. Mitrinovic, and P. M. Vasic, "Mean and Their Inequalities," Reidel, Dordrecht/Boston/Lancaster/Tokyo, 1988.
2. H. Haruki and T. M. Rassias, A new analogue of Gauss' functional equation, *Internat. J. Math. Math. Sci.* **18**, No. 4 (1995), 749–756.
3. H. Haruki and T. M. Rassias, New characterizations of some mean-values, *J. Math. Anal. Appl.* **202** (1996), 333–348.
4. C.-L. Wang, On a Ky Fan inequality of the complementary $A-G$ type and its variants, *J. Math. Anal. Appl.* **73** (1980), 501–505.
5. C.-L. Wang, Functional equation approach to inequalities, II, *J. Math. Anal. Appl.* **78** (1980), 522–530.
6. C.-L. Wang, On development of Ky Fan inequality of the complementary $A-G$ type, *J. Math. Res. Exposition* **8**, No. 4 (1988), 513–519.
7. N. Levison, Generalization of an inequality of Ky Fan, *J. Math. Anal. Appl.* **8** (1964), 133–134.
8. F. D. Chan, D. Goldberg, and S. Gonek, On extensions of an inequality among means, *Proc. Amer. Math. Soc.* **42**, No. 1 (1974), 202–207.
9. P. S. Bullen, An inequality of N. Levinson, *Univ. Beograd. Pub. Elektrotehn. Fak. Ser. Mat. Fiz.* Nos. 412–460 (1973), 109–112.
10. S. Lawrence and D. Segalman, A generalization of two inequalities involving means, *Proc. Amer. Math. Soc.* **35** (1972), 96–100.
11. H. Alzer, On an inequality Ky Fan, *J. Math. Anal. Appl.* **137** (1989), 168–172.
12. H. Alzer, The inequality of Ky Fan and related results, *Acta Appl. Math.* **38**, No. 3 (1995), 305–354.
13. H. Alzer, On Ky Fan's inequality and its additive analogue, *J. Math. Anal. Appl.* **204** (1996), 291–297.
14. H. Alzer, A short proof of Ky Fan's inequality, *Arch. Math.* **27** (1991), 199–200.
15. T. Popoviciu, Sur une Inégalité de N. Levinson, *Mathematica (Cluj)* **6** (1964), 301–306.
16. J. E. Pečarić, An inequality for 3-convex functions, *J. Math. Anal. Appl.* **90** (1982), 213–218.
17. S. S. Dragomir, Some refinements of Ky Fan's inequality, *J. Math. Anal. Appl.* **163** (1992), 317–321.
18. M. I. McGregor, On some inequalities of Ky Fan and Wang-Wang, *J. Math. Anal. Appl.* **180** (1993), 182–188.
19. A. McD. Mercer, A short proof of Ky Fan's arithmetic–geometric inequality, *J. Math. Anal. Appl.* **204** (1996), 940–942.
20. B. Mond and J. E. Pečarić, Generalization of matrix inequality of Ky Fan, *J. Math. Anal. Appl.* **190** (1995), 244–247.
21. W.-L. Wang and C.-J. Wu, Generalizations of Ky Fan's inequality, *J. Chengdu Univ. Sci. Tech.* No. 1 (1980), 5–12 (in Chinese).
22. C.-J. Wu, W.-L. Wang, and L.-M. Fu, Inequalities for symmetric functions and their applications, *J. Chengdu Univ. Sci. Tech.*, No. 1 (1982), 103–108 (in Chinese).
23. P.-F. Wang and W.-L. Wang, An inequality for nonlinear symmetric functions, *J. Chengdu Univ. Sci. Tech.*, No. 2 (1985), 87–91 (in Chinese).
24. W.-L. Wang, G.-X. Li, and J. Chen, Inequalities involving ratios means, *J. Chengdu Univ. Sci. Tech.*, No. 6 (1988), 83–88, 90 (in Chinese).
25. W.-L. Wang and P.-F. Wang, A class of inequalities for the symmetric functions, *Acta Math. Sinica*, **27** (1984), 485–497 (in Chinese).
26. W.-L. Wang and W.-W. Wu, On the inequalities of Fan's type, *J. Chengdu Univ. Natur. Sci.* **10**, No. 2 (1989), 1–6 (in Chinese).

27. P.-F. Wang and W.-L. Wang, Dynamic programming approach to inequalities of the Ky Fan type, *Rad Hrvatske Akad. Znan. Umj. Mat.* [467] **11** (1994), 49–56.
28. J. Huang, On Ky Fan functional inequality, *J. Hunan Univ.* **11**, No. 3 (1984), 36–41 (in Chinese).
29. Z. Wang, J. Chen, and G.-X. Li, Some generalization of the Ky Fan inequality, *Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat.* **7** (1996), 9–17.
30. G.-S. Yang and C.-S. Wang, Refinements on an inequality of Ky Fan, *J. Math. Anal. Appl.* **201** (1996), 955–965.
31. K.-K. Chong, On a Ky Fan's inequality and some related inequalities between means, *SEAMS Bull. Math.* **22** (1998), 363–372.
32. J.-C. Kuang, "Applied Inequalities," Human Education Press, Changsha, 1993 (in Chinese).
33. E. F. Beckenbach and R. Bellman, "Inequalities," Springer-Verlag, Berlin, 1961.
34. J. Sándor and V. E. S. Szabó, On an inequality for the sum of infimums of functions, *J. Math. Anal. Appl.* **204** (1996), 646–654.
35. J. Pečarić and S. Varosanec, A new proof of the arithmetic mean–the geometric mean inequality, *J. Math. Anal. Appl.* **215** (1997), 577–578.
36. J. E. Pečarić and V. Volenec, Interpolation of the Jensen inequality with some applications, *Österreich. Akad. Wiss. Math.-Natur. Kl. Sonderdruck Sitzungsber.* **197** (1988), 463–467.
37. J. E. Pečarić and D. Svtan, New refinements of the Jensen inequalities based on samples with repetitions, *J. Math. Anal. Appl.* **222** (1998), 365–373.